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To show : All G with n =2

has 2 vertices VAW S
.

t
. deg(v) = deg (w)

Assume that G hasn vertices

=> Vertices can have an edge with 0
,
1
,..., n-1 other different vertices

=> If there is a vertex with a degree of n-1 , then there can't

be another vetex v with deglu)= o &

It's impossible to have a G with 2 vertices VAW St . deg(v) =0
and deg(w) = n

- 1

=> The vertices can have at most n-1 different degrees
..., m-1 or 011 .....

There aren vertices.

According to Pigeonhole Principle there areat least 2 vertices a, 6 with deg(a) = deg(b



Given : G(V ,E) with n vertices

Return : Yes if G is a tree , otherwise no

Tree Properties :
GIVE) , 112

G is atree

#

Gis connected and has no cycle
#

G is connected and IEI = IV1-1

#

G has no cycle and IEI = (V)-1
(7)

for all xyeV : G has only one X-y path

Algorithm Idea :

Count IE)

if (IE) = IV1-1) return "No"

PFS
return

-

if (we visit a vertex that is already visited "No"

return "Yes"
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